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2N S SME
HE: sYUsE HAXE

g A3 s 232 (cho &)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OX220 =t s 4% B4
3,500 100 *23| 700
12 JIEBHE4 3 92,940 66,336 26,604
OURE SAE MM FY3
6,000& *11,4400t 0t 68,640
OMMSEel THHHER Ma =
300& *80,000kg 24,000
OXEd XM ME AANNE 2AxE 300
307 21201 A 3,630 0 3,630
02 QB AANGFEX 3,630 0 3,630
Oz 2S5 MSSX H0lg gH XA
132,000& * 13| *55ha*50% 3,630
402 RIZER20l ™ 84,700 129,400 A 44,700
01 212t X2 AP 2 2= (REXIXH &) 84,700 129,400 A 44700
O&rletd B 222 PEZE &XX L
110,000& *352 200 2 x70% 53,900
OH MHMRHY ol S8 & AlY
1,000, 000& *5ha*2JH 2 x70% 7,000
Ol RS NEWE SAEX =4
1,000, 0003 x5ha =4I 2 x70% 14,000
Ot AATHEY Jl= ASAY
1,000,000 » Tha*4JH 2 x70% 2,800
OZXME H MATHHE JI=AIEY
1,000, 000& *5ha*2JH 2 x70% 7,000
SMsE AASHAH 2= 11,700 31,500 A 19,800
201 LBH2EH| 600 600 0
02 33224l 600 600 0
OFXNE2ED RANE =+ 200,000& *33] 600
206 M= Hl 10,500 30,000 219,500
01 MHZ 4l 10,500 30,000 219,500
O=s8 k7L 3,500& +3,000kg 10,500
301 LEHZ 600 900 A 300
09 SALAHIX A S 600 900 A 300
O Jlsns &8 24
3,000 *200& 13| 600
OlM=2 s 22 48,760 130,300 A 81,540
201 Let24d] 45,560 29,600 15,960
01 At 22l 21,000 13,800 7,200
Of0lM=2 ZEX M 8,000,000& 23 16,000
OlldE &J/=zus M MXE
10,000& 2005 2,000
O0/ME A B ¥ ZF IS
200,000& x5 13| 1,000
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CASEE s 28

=]

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OUdZ BE2N & NE=H 248
200,000& x5&*23| 2,000
02 =224l 24,560 8,760
OD0lMES A Dl HZHI
1,350&%1,0004 =123 16,200
Ob0l¥= H SN 500,000& x10CH 5,000
o0l 208 |2l
150,000& = 12& 1,800
o0l AZel(2Ld)
130,000& 12 1,560
202 044l 600 0
01 SLHOIYI 600 0
OJdlsd Dld=E &g #Xord o4l
60,000 x2H 52 600
206 M= Hl 2,000 A 90,000
01 MHZ 4l 2,000 290,000
Oz e +¢ 100,000& 208 2,000
301 et 600 0
12 JIEtE & 600 0
00l 4 g YA+Y
300,000& =23l 600
EA OME | & 100,000 100,000
< 30,000
[ia 70,000
206 = Hl 100,000 100,000
< 30,000
s 70,000
01 MHZ 4l 100,000 100,000
O0I4= bH Mz
1,000,000 100 100,000
< 30,000
[ia 70,000
=2 golls HEZE A 2 22,000 2,000
= 11,000
[ia 11,000
101 @124l 9,490 340
2 4,745
[ia 4,745
04 J12tHI 9,490 340
Ol &9l ¢ A 2 9,490
-0l 68,720 x1H x 125 8,590
= 4,295
[ia 4,295
—4HE2E= 900
2 450
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g A3 s 232 (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 450
201 ¢4l 11,310 9,650 1,660
= 5,655
s 5,655
01 At 2t 2l 10,810 9,150 1,660
OZtiE $H 222 L HEE E& X
312,000 58 1,560
= 780
s 780
Ogdizs &M 828 8+2 M
60,000& x2&+103] 1,200
2 600
s 600
Onzg 2IJIAH Lz 250,000& *33] 750
= 375
= 375
OReUEE ZFL Ed9x2 7,300
= 3,650
i 3,650
02 =224l 500 500 0
ONEE U LUTFIEY RN+
250,000 »23| 500
= 250
= 250
206 M= Hl 1,200 1,200 0
= 600
s 600
01 =4l 1,200 1,200 0
OGEE o NEHd 2EH2 2Y
100,000& 78 700
= 350
e 350
OsSZdals g M= 100,000 *5ha* 13l 500
= 250
[ia 250
Holls 2EFEL 2F 3,900 3,900 0
= 1,950
[ia 1,950
202 oddl 1,300 1,300 0
= 650
e 650
01 = LH 4 1l 1,300 1,300 0
Ogdis 2FEL A 044l
20,000 x 1300 2~ *53] 1,300
= 650
[ia 650
206 28 2,600 2,600 0
= 1,300
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Y sYsE ARNE
g A3 s 232 (cho &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
o 1,300
01 X2 H| 2,600 2,600 0
OdYdls 22X 29 Ma 200,000 *13JH &~ 2,600
= 1,300
= 1,300
s&=E dols 2yl 4,000 88,000 A 84,000
= 2,000
= 2,000
206 M = dl 4,000 2,000 2,000
= 2,000
= 2,000
01 X2 4| 4,000 2,000 2,000
OsY & HIdals ¢4l ME #+¢
1,000, 000& *43] 4,000
= 2,000
= 2,000
=2Jt22lEallE =LA 90,000 0 90,000
= 45,000
= 45,000
101 21 214| 40,000 0 40,000
= 20,000
= 20,000
04 JIZtHIZ22XNSES 40,000 0 40,000
O=2Jr&elgdls oz gde 29 40,000
— o1y 68,720& x2H %250 34,360
= 17,180
= 17,180
—4Eg = 2,820,000 x2H 5,640
= 2,820
= 2,820
201 gBt2A | 25,500 0 25,500
= 12,750
= 12,750
01 AP 2t 2| H| 25,500 0 25,500
Ooulzg 2H HH Xtz 60,000 *305ha 18,300
= 9,150
- 9,150
Ol 2H 2 I=4| 150, 000& 12 x2 =t 3,600
= 1,800
= 1,800
oz %M E22 M 900,000 x4 3| 3,600
= 1,800
= 1,800
202 04| 8,500 0 8,500
= 4,250
= 4,250

_35_




2N
X ZH -
L= B
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=o)l = ME
SYsE HAXE

= —
FSEE s 22

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 = LH 4 bl 8,500 0 8,500
oWz &M 29 ol 20,0003 x5 852 8,500
2 4,250
[ia 4,250
206 M= Hl 16,000 0 16,000
= 8,000
[ia 8,000
01 M2 4l 16,000 0 16,000
Oz &M =M 2 400,000& x5Z+83| 16,000
2 8,000
s 8,000
SEHEY 29 A& 34,000 40,000 26,000
= 17,000
s 17,000
201 £B-2dH| 11,760 16,540 24,780
2 5,880
s 5,880
01 At 22/l 7,760 8,540 AT780
OMEES 7¥ 50,000& x10E *63] 3,000
2 1,500
[ia 1,500
Oad8H= Xl =2 880, 000& *23| 1,760
= 880
s 880
OEZANZ=E HH 100& 10,0000 23| 2,000
= 1,000
i 1,000
O&E ¢ ANEHHAE 1=l
100,000 5% x23| 1,000
= 500
[ia 500
02 =224l 4,000 8,000 A 4,000
OAEZZH |XHI(ICPE 115)
200,000& x10& *23| 4,000
= 2,000
[ia 2,000
202 oddl 4,800 2,400 2,400
= 2,400
i 2,400
01 = LH o4 1l 4,800 2,400 2,400
ORASHEN 5 EXANZ MHF Gl
20,0003 x4 x50 4,800
= 2,400
[ia 2,400
206 M= Hl 17,440 17,012 428
= 8,720
e 8,720
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g A3 s 232 (cho &)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 =8l 17,440 17,012 428
OZEgZEFAY 29 M=l 17,440
—dYEA0 2ZME 2L
200,000 x10& *43] 8,000
= 4,000
[ia 4,000
~EYFUANE 2HAS S W2 7Y
50,000 255 *43| 5,000
= 2,500
s 2,500
— Yy Ed=2 Mg £+ 111,000& 105 *43] 4,440
= 2,220
= 2,220
SELEA 2G(XA) 6,804 0 6,804
101 14 Hl 6,804 0 6,804
04 JIZtHZ2Z2XNHEE S 6,804 0 6,804
OEYAY 292X oAyl
68,7203 x 1«90 6,185
OELZTE 2IEX 4HEE=
6,185,000& »10% 619
HFA2A Y 2L (XA) 9,096 9,000 96
201 L2l 946 1,000 AbB4
02 =224l 946 1,000 AB4
OS2l AIZEH R 946
—SRENSEEX(PCR) 2uE 550
— Ol % (Pipet) 2 W& 33,000& x12& 13| 396
206 M= Hl 8,150 8,000 150
01 =8l 8,150 8,000 150
o 23 BE 224 MEH  200,0008*73 1,400
o 25 odg A24 IE(kit) <
450,000& x15M1 E 6,750
D0 ZHEMLI SAIIE 2E(XHA) 6,174 0 6,174
101 1244 dl 3,024 0 3,024
4 D12t Z2XREES 3,024 0 3,024
OLA0F ZAUSE HHYd & =35td RA2
2l 3,024
— QA H| 68,7203 x2H 20 2,749
—4HEE = 2,749,000 x10% 275
206 M= Hl 3,150 0 3,150
01 =8l 3,150 0 3,150
ODn70t 84 Hz ¥ &d 7
5,500 *300Z +13] 1,650
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2N S SME
HE: sYUsE HAXE

g A3 s 232 (cho &)
. _ = SfE|
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
OO0 ZHNLE ANE & 228 HE 79
20,000 *25= x33| 1,500
H 22 A X 105,710 83,820 21,890
= 31,713
= 73,997
301 et A= 105,710 83,820 21,890
= 31,713
= 73,997
12 JIEtE A& =2 105,710 83,820 21,890
OH 23 XJNAHIEH 10,000 *10,5712t 0t 105,710
= 31,713
= 73,997
+=E2EE Jlsd ¥ {0 MAMEI X4 200,000 0 200,000
2 100,000
= 100,000
402 SI2FXHE0| & 200,000 0 200,000
= 100,000
= 100,000
02 BIZtXIEANYEX(0OIETHH) 200,000 0 200,000
OFE2 Jlssd L AW MACT XA (1IHA) 200,000
2 100,000
= 100,000
= 0l 2 MA M2 JH G A= 34,000 0 34,000
= 17,000
= 17,000
402 SI2vXHE0| ™ 34,000 0 34,000
= 17,000
= 17,000
02 QIZtXIE A E X (0| XM THH) 34,000 0 34,000
Ok= 0I2 2 M4 M2 I3 aJlz AlE (]
D] 34,000
= 17,000
= 17,000
METM U HIOIQX B8 £ SHIWM 30,000 0 30,000
= 15,000
= 15,000
402 SI2F 20| ™ 30,000 0 30,000
= 15,000
= 15,000
02 QX2 A E X (0| X THH) 30,000 0 30,000
OMEIIA L HIOIQA &2 ELSAHIA Al
HIHA) 30,000
= 15,000
= 15,000
s MEel WS X8 2 oFF MAIlE AlY 110,000 0 110,000
= 55,000




2N
X ZH -
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el
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FSEE s 22

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

HJ

55,000

402 212t Xt=01 &

M

110,000

55,000
55,000

110,000

02 QX2 AL E X (01X THE

OJlsd #22l X
A

XM U o

0
0z

x
U

= -

HH

110,000

110,000

55,000
55,000

110,000

H X

15,400

7,700
7,700

15,400

X

15,400

7,700
7,700

15,400

04 JIZtNZ22XNSE+
PSS

gH =& H#FNA

68,7203 x1H 2002

H X

Il

HJ

15,400
13,744

6,872
6,872

1,656

828
828

15,400

Eldl 2=5 BEIA(AEH])

Jl

M

28,000

14,000
14,000

28,000

206 M= Hl

y

M

23,000

11,500
11,500

23,000

01 = dl
OE&ldl A IIE

OFHl gA 224 M

22,000 *900H

50,0003 »8& «82]

Il

HJ

H X

23,000

19,800
9,900
9,900
3,200
1,600
1,600

23,000

405 KtabH S|

o

M

5,000

2,500
2,500

5,000

5,000
5,000

2,500
2,500

5,000

1,115,496
182,000
100,000
32,000
801,496

494,870
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SA: sYIEME
Hu: ssE HANGE

Sl ASEHS MIIEEZ CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AHER Iz B2 223,380 173,320 50,060
201 £B-2d| 6,700 3,000 3,700
01 At 22l 6,700 3,000 3,700
OJUER &2 MIl=22 UMEY
20,000 1508 3,000
OALSHEZE0F XNESAHE EOtal XUtg gtz 700
=LA XTI SSE =8 3,000
202 04l 1,200 1,200 0
01 S LHOIYI 1,200 1,200 0
ORNSER X2 AMI|ls23 HAlg &4
60,0003 x2H 10 1,200
207 RO 50,000 6,000 44,000
01 A3l 40,000 0 40,000
OZ&Zu= 33t A2 EAH| 20,000
OUI, 20 JIS&SE HE H2EAH| 20,000
03 A& &2l 10,000 6,000 4,000
OASHE MEZS 43 ANE(1EX) 10,000
301 LEHZ 1,480 1,120 360
09 HALAHIX A S 1,480 1,120 360
OASZE s o BIt S
8,000& 70 +23| 1,120
OALSHE=SZE0F A& ALY EOtal g4l
8,000& *45F 13 360
402 RI2EX 20| ™ 164,000 157,000 7,000
01 2I2F 2 AL B (KM ) 164,000 157,000 7,000
OZI 2102) 2EM2Il= ANE
3,000,000& *6IH 2= x50% 9,000
OAHISI MY S=THA(OFATEEHAA) THHH
S$HAs4d AlY 30,000,000& »2H 2= *50% 30,000
Oolall2tHe &ed D= st Sd A
5,000, 000& *6IH 2= x50% 15,000
Oggal 2= HIItE otA AlY
5,000,000& *2H 2= x50% 5,000
OJIZHsHE FZRE OlEUHE=S &2 AlE
50,000, 000& *3IH 2= «50% 75,000
OAEX AZ3 AlEAL (1I02) 30,000
S AP Heg 41,390 53,390 A 12,000
201 Ler24E] 3,990 3,990 0
01 At 2t 2l 3,990 3,990 0
OO0rd 3t MAIZ & PXZ 495,000& »23] 990
O=33 & oMl W AIREE 7<
20,000& *50& *33] 3,000
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2N S SME
HE: sYUsE HAXE

Sl ASEHS MIIEEZ CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 Od4dl 1,800 1,800 0
01 = LH 4 Hl 1,800 1,800 0
ONASHES To HWXOIZ ol
60,0003 x3H 10 1,800
206 M= Hl 6,000 31,000 A 25,000
01 M= 4l 6,000 31,000 A 25,000
OO0rda 54 & MATHE 100,000& 203 2,000
O=3HE JIzsns M2
100,000& »10&E *4 3| 4,000
207 A RO 23,000 9,000 14,000
03 A& 24l 23,000 9,000 14,000
OO0t A2 ASAIE  1,000,000& *35 3,000
OUALSHS 22 AF X2
5,000,000 =44 2~ 20,000
301 LA F 6,600 7,600 A 1,000
12JIE243 6,600 7,600 A 1,000
OO0rdst ns ZAs=E 200,000& x53] 1,000
O=st us ZA=+< 280,000 x203| 5,600
=20 29 168,006 149,916 18,090
101 1Al 29,556 31,466 21,910
04 JI2ZtHZ22HEE =+ 29,556 31,466 21,910
SESEY 24 68,7203 x 10 30! 20,616
OZ8T M 68,7203 x6H 202! 8,247
OLE - HNHEEE 28,863,000& *2.4% 693
201 Let24dH] 63,950 54,450 9,500
01 At 2teltl 14,000 12,000 2,000
OgBt==&H| 14,000
- 3R 25+7¢ 25,0003 x205 *43] 2,000
— S5 ZZ2EE A A
6,000,000& x2& 12,000
02 232gHl 49,950 42,450 7,500
OA& & Hl s Xl 13,500
— 242 & FHKX 2,000,000& x5 10,000
— 282 & HEI E= 700,000& x5 3,500
O=24 2 SFR[E Y AZHI(ER)
1,350 604 *5J1 A+90 36,450
206 M= Hl 70,000 50,000 20,000
01 M= 4l 70,000 50,000 20,000
OBWERE 22 MM W2
200& *200,000=2 40,000
otdd 2 21H(K) 7 100& 200,000 20,000
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SIS dH

B =osE ARKE
¢elr ASES Ml=E3 (e &)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZ AWE A3z 7Y 5,000& *2,000H 10,000
405 TtHabF S| 4,500 4,000 500
01 AL EFSHSHI 4,500 4,000 500
O3FEIE NAER2I| 2L (3H) 4,500
ANER0 dete BAAIH S§ datze]l AIAE Al 160,000 0 160,000
=]
= 80,000
e 80,000
402 RIZEX20| A 160,000 0 160,000
= 80,000
s 80,000
02 U2 TEALEZ(0IETHR) 160,000 0 160,000
OAE 30 Hite EHALAIH S & etz Al
A8 A”E(1HA) 160,000
= 80,000
i 80,000
hedsasE 29 200,000 0 200,000
= 100,000
s 100,000
401 A& HIZ 201 I 200,000 0 200,000
= 100,000
s 100,000
01 A& HI 200,000 0 200,000
OLsStEsAHSE A& HE= 200,000
= 100,000
i 100,000
E2E sg2 AR24H =4 4,000 4,000 0
= 2,000
[ia 2,000
201 Let2d] 2,800 2,600 200
= 1,400
[ia 1,400
01 At 22l 2,800 2,600 200
OE=% ¢7s A I YXE
700,000& *43] 2,800
= 1,400
s 1,400
301 LeEAF 1,200 1,400 A 200
= 600
[ia 600
09 #HALAHIXI &3 1,200 1,400 2200
O8=E d73 sd FHEH=
8,000 *30F 53] 1,200
=2 600
s 600
=S8 sge o2y 84 4,720 0 4,720
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SA: sYIEME
Hu: ssE HANGE

=S

=}
ol ASH

s MsEs

- _ _ RE]

SA BB (SH) - NRAY - B %Ei 2t
201 Bt 3,100 3,100
01 AP 22| H| 3,100 3,100

OnM & Jz&d 500,000& x 1= %23 1,000
OSS8HIRS IHAXNES 700,000 *33] 2,100
301 LBt A= 1,620 1,620
09 HAIAHI X & 2 720 720
OZ2Y S0 973 S4 HA2Y
8,000& *30Y *33/ 720
12 JIEtE A& =2 900 900
O8=2Y g0 AR5 ZAE
300,000& 33| 900
HESolRA B28 AQET S XA AlY 30,000 30,000
o 10,000
= 20,000
402 812t XHE0| & 30,000 30,000
= 10,000
= 20,000
02 QI E A E X (0| XM THH) 30,000 30,000
OHSoIR2A BE288 ANEH HHAXH
50,000,000 =14 2~ *60% 30,000
= 10,000
= 20,000
Etd AALTIM Ol Jlatmol 32 AlY 14,000 14,000
o=} 4,200
= 9,800
402 SI2vXHE0| & 14,000 14,000
= 4,200
= 9,800
02 QI2ZtXIE A E X (0| X TH) 14,000 14,000
OF&H ALK 0l JI&IO6H 3 AlY
20,000,000 * 10 A *70% 14,000
o= 4,200
= 9,800
Slls FUHESHZS MM X4 AEY 14,000 14,000
= 4,000
= 10,000
402 SI2FXHE0| ™ 14,000 14,000
& 4,000
o 10,000
02 QX2 A E X (0| X THSH) 14,000 14,000
ORJ=s JHESSES MAHT =4
20,000,000 =10 A *70% 14,000
o= 4,000
= 10,000
ICT &2 S, 24 BHASE &4 AY 7,000 7,000
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2N S SME
HE: sYUsE HAXE

Sl ASHS HIIEEE (sl &2)
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
== 2,800
s 4,200
402 RI2EX=20| A 7,000 0 7,000
< 2,800
s 4,200
02 QI EAISEZ (OIS ) 7,000 0 7,000
OICT &8 &2, 2AHA &8 & AY
10,000, 000& * 10 2 x70% 7,000
= 2,800
e 4,200
ICT &8 =g maioe JIs2=2 AlY 42,000 0 42,000
< 9,000
s 33,000
402 RI2FX =01 M 42,000 0 42,000
< 9,000
s 33,000
02 QI EAILSEZ (01X E) 42,000 0 42,000
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